
Order form
Gustomer:
Gontact Pr

b6c -O>/,
k.,t
" Lsl1lt? .

J'",sl-4"/,"*q,?"

Data Binvcle Framei ., . (aBr*ffi odet Vel\ev o year of NlanufacrureltcV
Disc braRe mount '152000 X pnl Disc diameter without adaptors -

Frame r,l * 0",. [^rsg( 6dJ t+S Z++r.t
14omm 

-robrr$aort
adaptors _

Eccentric bottom bracket adjustable dropouts _Chain tensioner
sta nda rd dera i lleu r ha nge r --d-i rect mo u nt dera i I le u r han ge r
chain drive Gates Carbon drive

O.L.D. (width) 142mm 32-hole
lKt+a" Xsz-not"- 177mm (32-hole, black

197mm (Sz-hote, Otack)

36-hole silver _black red
36-hole 

-silver Xna* red

Xo'', pM (142r148t127) 

-A12'EM2 
(1s7)

-MonkeybonelS0 

(Art.#8554) V r* Bone (Art.#8555)

-Monkeybone-1 
0/i80 (Art.#8'554-1 0f

_Fat-Bone203 (Art.#8557)

Ghain Tensioner:
Axleplate

_412 OEM2 (1 42t1 48t 177)
Torque anchoring adapter:
_Monkeybonel 60 (Art.#8553)
_Monkeybone-1 0/1 60 (Art.#8553-1 0)
_FAT-Bone1 80 (Art.#8556)

Brake System:
SPEEDHUB will be used without a disc brake

xyes no

Order 1x Rohloff SPEEDHUB A.12

Axle svstem (of tested frame. please tick test components required)

_DT/Maxle:
Disc Brake side (left-hand)
_Red reduction sleeve (8592)
_Orange reduction sleeve (85925)

Sprocket side (right-hand)
_Blue threaded reduction sleeve M12x1.75 (8593)
_Black threaded reduction sleeve M12x1.5 (8599)

Gray threaded reduction sleeve M12x1.75 (85935)
_Light-green threaded reduction sleeve M12x1.5 (85995)

Number of micro shims required
Number of remaining micro shims

Number of micro shims required
Number of micro shims required
Number of remaining micro shims
Number of remaining micro shims

_Shimano e-thru 12:
Disc Brake side (left-hand)
_Red reduction sleeve (8592) + turquoise spacer (8596)

Orange reduction sleeve (8592S) + turquoise spacer (8596)

Sprocket side (right-hand)
_Red reduction sleeve (8592) + brown spacer (8597)

Orange reduction sleeve (85925) + brown spacer (8597)

_ Number of micro shims required
Number of remaining micro shims

_ Number of micro shims required
Number of remaining micro shims

Syntace X12-V1:
Disc Brake side (lefi-hand)
_Red reduction sleeve (8592) + green conical spacer (8594)

Orange reduction sleeve (85925) + green conical spacer (8594)_
Sprocket side (right-hand)
_Red reduction sleeve (8592) + yellow spacer (8595)
_Orange reduction sleeve (85925) + yellow spacer (8595)

Number of micro shims required
Number of remaining micro shims

Number of micro shims required
Number of remaining micro shims

,Syntace X12-Y2:
Brake side (left-hand)
Red reduction sleeve (8592) + green conical spacer (8594)

' Orange reduction sleeve (85925) + green conical spacer (8594)' Number of remaining micro shims

Qprgcket side (right-hand)
\( pint< threaded reduction sleeve (8598)/ 'Gold threaded reduction sleeve (85985)

&Xuto"r of micro shims required

4- rurto"r of micro shims required
_ Number of remaining micro shims

Please return this complete dropout measurement kit only after receipt of an order confirmation or direct response
from the Rohlofl AG.

49 ROHLOFF-A12-BEIDE MESSMETHODEN-EN-271O2O17.DOCX



dl E'l
EI EIqloJ
t-l -l?lvl
ol ol;l;l
HI HI5l =lrrl ulol ol*rl -ltrl Elol ol
EI EI
EI EI
=l =lol olGl (Elol 0)l

51 5l
-cl -cl;l;l
=l =lol ol
-cl -el
#l8lllrl-lrlolol
uJlrxlUJIHI Xo.lo-l c)olol R(El (El ,--ElEl E5l=l Nqg 

N:l:l inl-l 
-:l_al fi

3,13,1 Iolol rolol Felel H

EIEI g
.el.el 

'ul=1.=l o
*.1 gl [Ilolol mLlLl rolol NEIEI Kgl*l Eiot

o
-o
E
Jc
o
E
(5
tL

0
),qE

E

o5
AE
gC(56
Eiooc
EA
=-A'-
8_p
3Eg=.a(ggo)5tr(5-
-c).,J-J-CALA
e(!o Xa-o *c
-E(5c O-c
EFa(D ie E;€e *rg.=.c .:
!u ->* 2F ()= =o t"5 OE H
-to Lo9E q9=g) :*,i:tn= rsEEg 9
3h e P€5 e b

.!\L-!-
.9 9o rsfO(E-o .9 =o FE 

== o- =EbH E

FH A Ez oo c)6 u,: i o5E; n I
='=5 iD (5
(/) F* tr o-o;< oo\-/ -. E (5
oer E I E-o>& q'<-l
u)\: i c)>or ni 9io!g O.= E ^*€ d eE
- >(r)A@E :Edeu ;Egn.! o9oo(5 c!EoO) Oic(6(U -9u9; E EEt o (5 Fo
PE F 5:EEn ;;5 O_.Y -C C)(oaC.#L

E5 8 9et o c ;-nrE o 6i A
5 e g 92

o
Eo
6EG(o=za

ffi
-ry

*bi3
o.l oo;pu
a8

*,:Jo
CLoL.
E
!te
(E
F
I+,e

ct)
L
o+,?

t-

+,
Jo
E
(Eol-eI
+,tro
EoL
J

He9';LI-E

8E9+!ool'=o
!=
*.1 .=
+ro
=oet
6:ol- (Jo.eNo
OS
HEES
AF

NI
Nl

--l
ritl

o
o
-c
==@o
o
oz

c
ts
c.):
a)

{)
2

oEo
od
Ec
G
m
o
E
(u
tL (,

$



XOoo
F-
oNO
NN

Iz
UJ

Iz
uJoo-F
IJJ

a
@
uJ

I
IJJo
tr
dl

IN
s
LL
LLoJIot

E'l dl
EI EIullol
F-l f\l|ol \fl
Al:l;l;l
EIHI5l =lol ulol 0)ltlrlol ol
EI EI
EI EI
=l =lol olGl lElol G)l
EI E]
ol ol
-cl -cl;l;l
=l =lol ol-cl-cl
#lfilllrlTIIIolol
url url
url url
o-l o-lolol
cl cl
EIEI
=l =lol ol
EI EI
ol ol
ol ol
.ol-ol
ol alol olol oloJ ol
ol ol-cllrll
tl rlcl cl
.el.el
=l=lulul
ol olol ol
ol ol

=l=l

3
Uo
-o
E
c
o
E
(U

tL

X
N

-co
=o-
E
Go
-c
o
oz

E
E

UJ
*Ql

rr{
rcl

o
o

=
@o
o
oz

o)

:
U'c'(6
PEcEo!c>,o_oE.saa99-Co-l-o6a_a
(5a
=dEE*d)a\
=f-AC(5
=ootr-o--o- -C,6nc-oEE E)-a? (5
Gi- .=o: atts e
9E ;
=o (!
\o_Lo9 qoE .=*o tg
E5 O3b .uoo tr:s IEb .o
J€o= ie3 :
=E 9Oy -llca
RLL

ijl'co I(5O) E
E(E goh iacX tn OoX roo'E .= nr (E
(/) >\ tr O-ooO-s E (5of aE
-o X c';i
a*. io>.y 9E(5= ts^* ffi eEv
-a E t.9J o Ya:€ 'u'€
OQ CLEU *d-a1 i=
- 

(l) 6:e o -oEe =-ot= 6=NtJJEo aa;* 5E(5E oaroE 
=Et o G-n,9 ci 9)i? 92

+,Eo
E{)
falJ-
z_o

c()
Eo!b3a$o

op
.n
T'
(E

I+,
ct)

I
op
o
+.oJooL
o.a
I

(\t

oo
G+r

@

!-
g1 --/lc'c

:oEo
oU
Ec
(o

m
o
E
(u

TL (os


